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Introduction

k=CO0O,00000000b00bD0oDbOo.
Definition (Ruled surface)

X : C'00 ruled surface

~—7: X —C:00,C:00
VpeC, X, :=n"t(p) =P

<= 3& : C'0 0 rank 2 locally free sheaf (vector bundle)
st. X 2P(&8)

Theorem (Alzati, Tonoli)

X =P(&) : C OO ruled surface

A X OO very ample divisor

X —PNbyl|A|, N=h(X,A)-1000.

0000, #x O free resolution 0 O 0 0O O Macaulay 20 00 00O
ogoooooo. )
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(AT)DODOO0DD0OO0O0O00000, 00 ruled surface0 000
Macaulay 2 00 00O O OO free resolution 00 00 O .

~ 00000000000, 0000 ruled surfaced 00 O free
resolution0 0000000 OODO.

| \

Goal

TheoremO OO OO (X =P(&) : COO ruled surface, A: X 00O
very ample divisor, X — PV by |A])
000000 Hx O free resolution0 000 0O O .

| A\

Main result
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X=P(&) —Poby |4 =|Co+3f 0000
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Motivation
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Macaulay 2 00 00O O OO free resolution 00 00 O .
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Goal

TheoremO OO OO (X =P(&) : COO ruled surface, A: X 00O
very ample divisor, X — PV by |A])
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Main result
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3B =..-.— B ' —B"— B — ...: complex

with B =P H (P", F(c - j)) ® . (j — ) = P ET
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J
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Example

C:0000 (¢9=1),&:CO0O0D0 0rank 2 locally free sheaf
(00 1) X, = P(&) = P° (i = 1,2,3) by |A] = |Cy + 3/
(DD2)J (2)0 [EFS]O OO . CohomologyO OO OO

B = E EY = HYP, I, (2+D) @ L (—p)
J

—-5<p<0,0<¢g<H000OOODO.
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Example

C:0000 (¢9=1),&:CO0O0D0 0rank 2 locally free sheaf
(0D01) X, :=P&)—P° (1 =1,2,3) by |[A] =|Co + 3f|
(00 2) #x,(2)0 [EFS]O O O. Cohomology 0D O OO 0O.

B€

— @ Effj,j EP =

H(P, Ix,(2+ p)) ® Qpd (—p)

~—-5<p<0,0<¢<50000000.
hi(P°, Ix,(2+p)) (i=1,2,3) (000<¢<5 00 -5<p<0)

0

0

0

18

0

H3(P5, Ix,(2 — 5)) = CI8
H2(P5, I, (2—2)) =C

0

HO(P, 7. (2 — 0)) = C?

0

0000 (0O0o0)

0
0
6
0
0
0

(e} Hew) Nen) Hew) Raw]

(e} New) Bl Neol Rewl Ha)

(e} Nen) Nen) Henl Revl Nan)

0
0
0
0
0
3
O

0000000000000 2011/02/08 6/1



Example

C:0000 (¢9=1),&:CO0O0D0 0rank 2 locally free sheaf
(00 1) X, :=P(&) — P5 (i = 1,2,3) by |A] = |Cy + 3f]
(00 2) #x,(2)0 [EFS]0 OO . Cohomology 0 O OO DO.
B°=@E EM=HYP, Ix,(2+p) @ BRL(—p)
j
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01070(0]0/0
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Example

C:0000 (¢9=1),&:CO0O0D0 0rank 2 locally free sheaf
(00 1) X, :=P(&) — P5 (i = 1,2,3) by |A] = |Cy + 3f]
(00 2) #x,(2)0 [EFS]0 OO . Cohomology 0 O OO DO.
B°=@E EM=HYP, Ix,(2+p) @ BRL(—p)
j
~ —5<p<0,0<¢<50000000.
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Example

C:0000 (¢9=1),&:CO0O0D0 0rank 2 locally free sheaf
(00 1) X, :=P(&) — P5 (i = 1,2,3) by |A] = |Cy + 3f]
(00 2) #x,(2)0 [EFS]0 OO . Cohomology 0 O OO DO.
B°=@E EM=HYP, Ix,(2+p) @ BRL(—p)
j
~ —5<p<0,0<¢<50000000.
hi(P°, Ix,(2+p)) (i=1,2,3) (000<¢<5 00 -5<p<0)

0(0]0]0[0]O

01070(0]0/0

1816100010 H3(P5,fxl(2—5)) :C18

0 [0jo[T]0]0 H2(P5, 7y (2— 2)) = C
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B =H1(P°, Ix,(2+p) @ U P(-p) (i=1,2,3)
Qs 0 QO00,000<qg<5 00 —5<p<0)
0 0 0 0 0 0
0 0 0 0 0 0
180°(5) | 6Q%(4) 0 0 0 0
0 0 0 02(2) 0 0
0 0 0 0 0 0
0 0 0 0 0 30

0oo0 oo

(oooo)

00000D00000O00000

2011/02/08
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EYt = HI(P®, Ix,(2+p) ®Q7P(=p) (i=1,2,3)
(0 QO000,000<q< 5DD—5§p§O)
0 0 0 0 0
0 0 0 0 0
180°5(5) | 697(4) 0 0 0 0
0 0 02(2) 0 0
0 0 0 0 0
0 0 0 0 30
(00 3) [EFS]O0 00O resolution 0 O O
~ 0 = 18P(5)  — 6Q'4) — Q*(2)®e30 — 0
— B2 — B! = RO
= @B > : B0 000 exact

~ 0 — 180°(5) — 6Q1(4) — ()@ 30 — Ix,(2) — 0
:exact (1 =1,2,3)

00 OO0 (oooo) 00D000D0000000000 2011/02/08 7/1



By = HY(P, Ix,(2 +p)) ® QP(—p) (i =1,2,3)

(0 QO00,000<¢<5 00 —5<p<0)
0 0 0 0 0 0
0 0 0 0 0 0
180°(5) | 6Q7(4) 0 0 0 0
0 0 0 02(2) 0 0
0 0 0 0 0 0
0 0 0 0 0 30

(00O 3) [EFS]O0 0 DO resolutiond O O

~ 0 — 185 — 6Q'4) — Q*(2)®e30 — 0
— B2 — B! = RO
= @F; ¥ : B0 000 exact
~ 0 — 180°(5) — 6Q1(4) — ()@ 30 — Ix,(2) — 0
:exact (1 =1,2,3)

00 OO0 (oooo) 00D000D0000000000 2011/02/08 7/1



By = HI(P°, Ix,(2+p)) @ QP(-p) (i=1,2,3)
Q0 Q000,000<¢<5 00 —5<p<0)
0 0 0 0 0
0 0 0 0 0
180°(5) | 6Q°(4) 0 0 0 0
0 0 02(2) 0 0
0 0 0 0 0
0 0 0 0 30
(DO 3) [EFS]O 00O O resolution 0 0 O
~ 0 — 185 — 6Q'4) — Q*2)®e30 — 0
— B2 — B! — B
= @B > : B0 000 exact

~ 0 — 180°(5) — 6Q1(4) — ()@ 30 — Ix,(2) — 0
:exact (1 =1,2,3)

00 OO0 (oooo) 00D000D0000000000 2011/02/08 7/1



By = HI(P°, Ix,(2+p)) @ QP(-p) (i=1,2,3)
Q0 Q000,000<¢<5 00 —5<p<0)
0 0 0 0 0
0 0 0 0 0
180°(5) | 6Q%(4) 0 0 0 0
0 0 02(2) 0 0
0 0 0 0 0
0 0 0 0 30
(DO 3) [EFS]O 00O O resolution 0 0 O
~ 0 = 18P(5)  — 6Q'4) — Q*(2)@e30 — 0
— B2 — B-1 — B
= @B > : B0 000 exact

~ 0 — 180°(5) — 6Q1(4) — ()@ 30 — Ix,(2) — 0
:exact (1 =1,2,3)

00 OO0 (oooo) 00D000D0000000000 2011/02/08 7/1



EYt = HI(P®, Ix,(2+p) ®Q7P(=p) (i=1,2,3)
Q0 Q000,000<¢<5 00 —5<p<0)
0 0 0 0 0
0 0 0 0 0
180°(5) | 6Q%(4) 0 0 0 0
0 0 02(2) 0 0
0 0 0 0 0
0 0 0 0 30
(DO 3) [EFS]O 00O O resolution 0 0 O
~ 0 = 18P(5)  — 6Q'4) — Q*(2)®e30 — 0
— B2 — B! = RO
) : B°00 00 exact

~ 0 — 180°(5) — 6Q1(4) — ()@ 30 — Ix,(2) — 0
:exact (1 =1,2,3)

00 OO0 (oooo) 00D000D0000000000 2011/02/08 7/1



EYt = HI(P®, Ix,(2+p) ®Q7P(=p) (i=1,2,3)
Q0 Q000,000<¢<5 00 —5<p<0)
0 0 0 0 0
0 0 0 0 0
180°(5) | 6Q%(4) 0 0 0 0
0 0 02(2) 0 0
0 0 0 0 0
0 0 0 0 30
(DO 3) [EFS]O 00O O resolution 0 0 O
~ 0 = 18P(5)  — 6Q'4) — Q*(2)®e30 — 0
— B2 — B! = RO
= @B > : B0 000 exact

~ 00— 180°(5) — 6Q1(4) — ?2(2) @30 — Iy (2) — 0
:exact (i = 1,2,3)
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EYt = HI(P®, Ix,(2+p) ®Q7P(=p) (i=1,2,3)
Q0 Q000,000<¢<5 00 —5<p<0)
0 0 0 0 0
0 0 0 0 0
180°(5) | 6Q%(4) 0 0 0 0
0 0 02(2) 0 0
0 0 0 0 0
0 0 0 0 30
(DO 3) [EFS]O 00O O resolution 0 0 O
~ 0 = 18P(5)  — 6Q'4) — Q*(2)®e30 — 0
— B2 — B! = RO
= @B > : B0 000 exact

~ 0 — 18Q°(5) — 6QY4) — Q*(2) @30 — Iy, (2) — 0
s exact (1 =1,2,3)
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(OO 4) Free resolution 0 O O . 0

0oo0 oo

(oooo)

!
180°(5)
|«
604 (4)
!

Coker «

00o0000000000000 2011/02/08

8/1



(OO 4) Free resolution 0 0 O . 0
1
0 — 180(—1) — 18Q5(5) — 0
|
0 — 60(-2) — 360(—1) — 6Q*4) — 0
!
Coker «
!
0
0
!

Coker «

!
0—0(—4)—60(-3)—150(-2) —200(—1) ® 30 — 522(2) ®30— 0
!
]Xi<2)
!
0
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(O O 4) Free resolution 0 0 0. 0 0
! 1
0 — 180(—1) — 18Q5(5) — 0
| 1 |«
0 — 60(-2) — 360(—1) — 6Q*4) — 0
!
Coker «
!
0
0
l

Coker a
!
0— O(—4) —60(—3) —150(-2) —»200(-1) ® 30 — Q*(2) @30 — 0
!
jxi<2)
!
0
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(OO 4) Free resolution 0 0 O . 0

0
| 1
— 180(—1) — 18Q°(5) — 0
|
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!
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!
0
0
l
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!
jxi<2)
!
0
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(O O 4) Free resolution 0 0 0. 0 0
! l
0 — 180(—1) — 18Q5(5) — 0
! l Lo
0 — 60(-2) — 360(—1) — 6Q*4) — 0
! l 1
0 — 60(—2) — 180(—1) — Cokera — 0
l ! !
0 0 0
0
!
0 —60(-2) — 180(-1) — Cokera — 0
!
0— O(—4) = 60(-3) - 150(—2) = 200(-1) ® 30 — Q*(2) ® 30 — 0
!
jxi<2)
l
0
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(O O 4) Free resolution 0 0 0. 0 0
! l
0 — 180(—1) — 18Q5(5) — 0
! l Lo
0 — 60(-2) — 360(—1) — 6Q*4) — 0
! l 1
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0
!
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!
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0
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Lo L o | !
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Mapping cone0 OO0, 000 ¢=1,2,30

0 — O(—6) — 60(—5) ® 60(—4) — 150(—4) @ 186(—3)
—200(=3)®30(-2) — Ix, — 0
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Mapping cone0 OO0, 000 ¢=1,2,30

0— O0(—6) — 60(—5) ®60(—4) — 150(—4) & 180(-3)
—200(-3)®30(-2) — Fx, — 0

Example (AT)
Q@ 0— 0(—6) - 60(—5) - 90(—4) ®20(-3)
—40(-3)®30(-2) = Ix, — 0
Q@ 0— 0(—6) - 60(—5) — 90(—4)
5 20(~3) ®36(—2) — Ix, — 0
Q@ 0— 0(—6) — 60(—5) — 90(—4)
—20(-3) - 30(-2) - Ix, — 0|
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Mapping cone0 OO0, 000 ¢=1,2,30
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Mapping cone0 OO0, 000 ¢=1,2,30
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—200(-3)®30(-2) — Fx, — 0
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